| Efficiency vs Dxy

>0.05
X

o : : :
B.045 i
< oo
20,04
o oo
@035— """
0,08
0,025 i
002
0.015—----3------@ ------

eff

J0)| S S
0,005 +-vvvviveed

......................................................

......................................................

1.

Ratio

0.95

=
!

B 5015 =

| Efficiency vs Dz |

10 50 510 15 20 25
TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original

—— DQM_TT__mkFit-DQM_original_newwindows

0.8

N -

= C

2 C

> 07__ """""""""""

(&) -

S C

G 0.6:— ------------------

© n :
0.5 Beeeeees
0.4
0.3[ oo
0.2
1| SRS S

..................................................

..................................................

..................................................

Ratio

=

R
IIIIIIIIIIII TrIrrT

...................

.......................................

10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


